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2011.  M59 

WARNING 
 

This Question Paper MUST be returned with your answer book(s) at the end of the Examination, 
otherwise marks will be lost. 

 
 
 

Write your Examination Number here   
 

               

 

 
Coimisiún na Scrúduithe Stáit 

State Examinations Commission 
 
 

LEAVING CERTIFICATE EXAMINATION, 2011 
 
                     

 WEDNESDAY, 22 JUNE – MORNING  9.30 – 12.00 
 
 

ECONOMICS – HIGHER LEVEL 
 (400 marks)                     
 

                                                                                                                                                
Answer six questions from Section A and four questions from Section B.   
Credit will be given for clear, precise answering and for orderly presentation of material. 
 
                   

SECTION A (100 marks) 
 
Answer six of the nine short response type questions in the spaces  
provided. 
                       
 

SECTION B (300 marks) 
Answer four questions.  
Write the answers in your answer book(s). 
Do not write answers to Section B on this question paper. 
All questions carry equal marks (75 marks). 
Note the sub-divisions in the questions. 

 
 
 

REMEMBER TO RETURN THIS QUESTION PAPER WITH THE ANSWER BOOK(S) USED 
TO ANSWER THE QUESTIONS IN SECTION B 

 
Q. 

 
Mark 

1  
2  
3  
4  
5  
6  
7  
8  
9  

 

Total 
 

Examiner use only 
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SECTION A (100 marks) 
 

Answer six of the nine short response type questions in the spaces provided. 
 
 

1. State four steps involved in constructing a Consumer Price Index (CPI). 
  

Step 1 ____________________________________________________________________________ 
  

Step 2 ____________________________________________________________________________ 
 
Step 3 _________________________________________________________________ 
 
Step 4 _________________________________________________________________ 

                     (16 marks) 
 
2. Define a mixed economy. State two examples of economic activity which supports the view that 

Ireland is a mixed economy. 
  
 Definition: _________________________________________________________________________ 
 
 __________________________________________________________________________________ 
 
 Example 1:  ________________________________________________________________________ 
 
 Example 2:  ________________________________________________________________________  

    (16 marks) 
 

3. Name the market structure (Perfect Competition, Imperfect Competition or Monopoly) to which  
each statement below is most likely to apply: 
 

                       STATEMENT                MARKET STRUCTURE 
(i) The firm has a perfectly elastic demand curve.  
(ii) The product of the firm is unique.   
(iii) Restaurants could be an example of this 

market structure. 
 

(iv) Average costs of the firm are at a minimum.  
     (16 marks) 

 
4. Outline three areas of responsibility of the National Treasury Management Agency (NTMA). 
 

(i) ____________________________________________________________________________ 
 

(ii) ____________________________________________________________________________ 
 

(iii) ____________________________________________________________________________ 
    (16 marks) 

 
5.  Define the term occupational mobility of labour. Outline two factors which can influence it. 
 
 Definition:  ______________________________________________________________________________________ 
 
 __________________________________________________________________________________________________ 
 
 Factor 1: __________________________________________________________________________ 
  
 Factor 2: __________________________________________________________________________ 
                                                           (16 marks) 
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6. Outline two possible economic effects for the Irish economy of the euro (€) falling in value relative to 

the US dollar ($). 
 

(i) ____________________________________________________________________________ 
 

____________________________________________________________________________ 
 
 (ii) ____________________________________________________________________________ 
 
  ____________________________________________________________________________ 

 

             (17 marks) 
 
7. State three reasons why multinational firms are re-locating to countries like Vietnam, Indonesia and 

Thailand in Southeast Asia. 
 

(i) ____________________________________________________________________________ 
 

(ii) ____________________________________________________________________________  
  

(iii) ____________________________________________________________________________ 
                    (17 marks)
            
8. A consumer buys 20 units of Good A when the price of Good B is €8. When the price of Good B rises 

to €10 (the price of Good A remaining unchanged) the consumer buys 12 units of Good A. 
 Using an appropriate formula, calculate this consumer’s cross elasticity of demand for Good A. 
 (Show your workings.) 

 
         Answer: 
            _______________________________________ 
     
             

                      
       Is Good A a substitute for, or a complement to, 

          Good B?  Explain you answer. 
                                          ______________________________________ 
               

______________________________________ 
                                                                                                                                                  (17 marks)   
9.  In September 2010 approximately 5.1% of mortgage accounts were in arrears (behind on mortgage 

payments) of 90 days or more. Outline two economic reasons for this development and two actions 
financial institutions could take to help mortgage customers. 

 Reasons: 
 

(i)  _______________________________________________________________________________ 
 
(ii) _______________________________________________________________________________ 
 

 Actions: 
 
  (i) _______________________________________________________________________________ 
 
  (ii) _______________________________________________________________________________ 
                    (17 marks) 

Remember to return this question paper with the answer book(s) used to answer the questions in Section B. 
 

 

WORKINGS 
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SECTION B (300 marks) 
 

Answer four questions.  
Write the answers in your answer book(s). 
Do not write answers to Section B on this question paper. 
All questions carry equal marks (75 marks). 
Note the sub-divisions in the questions. 
 
1. (a) (i) Define the economic terms:     individual (consumer) demand;    market demand. 
         (ii) Explain, with the aid of labelled diagrams, the relationship between individual (consumer) 

demand and market demand.                                                                                        (20) 
  

(b) (i) Distinguish between the economic meanings of a ‘movement along a demand curve’ and  
           a ‘shift in a demand curve’ for concert tickets.  
  Illustrate your answer using diagrams. 

 (ii) State and explain two factors that would cause a shift in a demand curve for concert 
tickets. In each case explain how the factor affects the demand curve.                      (30) 

                
(c) The Law of Diminishing Marginal Utility states that as more of a product is consumed, 

eventually each additional unit of the good provides less additional utility (marginal utility). 
 

(i) Explain two assumptions underlying the Law of Diminishing Marginal Utility. 
 

A consumer in equilibrium buys 6 health bars at €0.80 each and 9 cartons of juice at €1.50 
each. The marginal utility of the 6th health bar is 40 utils.  

 
(ii)     Using the Equi-Marginal Principle of Consumer Behaviour calculate the  

                                  marginal utility of the ninth carton of juice. (Show all your workings.)              
               (25) 

 

 [75 marks] 
 
2.         (a) Some Telecoms’ analysts believe the main mobile operators in Ireland – Vodafone, O2,  

Meteor and 3 – control an oligopoly and have little reason to make the market really 
competitive.                                                                              (The Irish Times, November, 2010) 

 

  (i)  Outline three key features of an oligopolistic market. 
 

  Firms in an oligopolistic market may have objectives other than profit maximisation. 
 

 

(ii) Outline two objectives firms in oligopoly may have, other than achieving the maximum 
level of profits.                                                                                                                 (25)
       

(b) Using one clearly labelled diagram: 
 

(i) Explain the shape of the ‘kinked’ demand curve facing a firm in oligopoly. 
(ii) Explain the long run equilibrium position of this firm.                   (25) 

    
(c) It is suggested that consumers prefer price competition in the market place, yet there are 

benefits for consumers arising from non-price competition. 
 
(i) Explain two reasons why consumers may prefer price competition. 
(ii) Describe two benefits to consumers of non-price competition. 

 (25) 
 

[75 marks] 
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3. (a) (i) Define the term Marginal Revenue Productivity (MRP) of a factor of production. 
  (ii) State and explain two factors that can influence MRP. 
  (iii) Outline two difficulties that may arise in measuring MRP.                   (25) 
                 

(b) ‘Capital Investment has been an important driver of economic advancement in Ireland 
 over the past ten years, providing the capacity and scope for growth’. 

                   (The National Recovery Plan 2011 – 2014) 
 
  (i) State and explain three reasons why investment is important for the Irish economy. 
  (ii) Describe three factors that currently influence the level of investment in the Irish  
   economy.                                                                                                                       (30) 

    
(c) 

Advise the Minister for Transport on two possible economic advantages and two possible 
economic disadvantages of investing in public transport, rather than investing in the construction 
of new roads.       
                                                                                                                                                   (20) 

 
 [75 marks] 

 
 

4. The table below shows the short run production costs for a small firm producing and selling kitchen 
furniture. 

 

 Number of units 
of output 

        Fixed Costs        Variable Costs          Total Costs 

                €                  €                  € 
           1              400                  600               1,000 
           2              400               1,200               1,600 
           3              400               1,850               2,250 
           4              400               2,900               3,300 
           5              400               4,100               4,500 

 
 (a) (i) Using the information in the table above calculate the following: 

 The marginal cost of producing the 4th unit. 
 The average cost of producing 5 units.  
 The profit earned by the firm selling 5 units of output at €1,200 per unit. 

(Show your workings.) 
 

(ii) Using the information in the table above, draw the firm’s short run average cost (AC)  
  curve. Explain the reasons for its shape.                                                                          (30)
        
 (b) ‘The cost of doing business in Ireland is falling. However, some costs continue to increase or 
  remain relatively high’.                                (National Competitiveness Council Report, 2010) 
 

 (i) Discuss the economic advantages of falling costs of production for the Irish economy. 
  (ii) Outline possible restrictions on the growth of businesses in the Irish economy at    
   present.                                                                                                                             (30) 
 

(c) The British Petroleum (BP) oil spill in the Gulf of Mexico in 2010 is estimated to have cost a  
total of $40 bn.  Identify two costs for BP and two costs to society associated with this oil spill.    

 
(15) 

 
[75 marks] 
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5. (a) The Budget is a statement of the Government’s fiscal policy. The Irish Government, in its   

National Recovery Plan 2011-2014 committed to reducing the General Government Deficit to 
under 3% of GDP by 2014. 

 
(i) Explain the underlined term. 
(ii) State and explain four possible economic effects on the Irish economy of the 

government’s plan to significantly reduce the deficit over the next four years. 
               (30)  

 
(b) It has been suggested that in order to reduce the National Debt the government should privatise 

state owned companies in the coming years. 
 

 (i) Explain the term ‘privatisation’. 
(ii) Outline four economic arguments in favour of privatisation OR outline four economic 

arguments against privatisation.    
                         (25) 

 
(c)  ‘The number of staff in the Irish public sector grew by 15.5% from 2001 to 2008, according to    

OECD statistics’.                              (Report on the Sources of Ireland’s Banking Crisis, 2010) 
  
 Discuss four measures the Minister for Finance could take to reduce the public sector wage 

bill.     
                           (20)     

[75 marks] 
 
 

 
 
 
6. (a) Money is usually defined by reference to the functions it performs.  
 

(i) Outline four functions of money. 
(ii) Explain the term ‘Monetary Policy’. 
(iii) Explain a central bank’s function as ‘lender of last resort’. 
                          (35) 

 
   

(b) Many believe that a lack of supervision (‘light-touch regulation’) of financial institutions in 
Ireland contributed significantly to the banking crisis. 

 
Discuss the economic reasons why commercial banks in Ireland should be regulated. 

                (20) 
 
 

(c) It is being suggested that the ECB will increase interest rates in the 2011/2012 period.  
Explain the economic effects of rising interest rates on the Irish economy. 
                           (20) 

    
[75 marks] 
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7. (a) (i) Define the following terms: 

 Gross Domestic Product at Current Market Prices; 
 Gross National Product at Factor Cost. 

 
 (ii) Explain two reasons why GDP in Ireland at present is larger than GNP.    

  (30) 
 

(b) (i)  Explain what is meant by the term ‘Multiplier’. 
(ii) It has been estimated that in the Irish economy: 

MPT = 0.22, MPM = 0.30, MPS 0.28. 
 Calculate the value of the Multiplier in the Irish economy. 
(iii) Outline briefly how taxes affect the value of the Multiplier. 

  (25) 
 

(c) ‘The Irish Government predicts that the rate of economic growth in 2011 will be 1.75%’. 
                      (The National Recovery Plan 2011-2014) 
 

Discuss the economic effects of an increase in the rate of economic growth on the Irish 
economy. 

                                   (20)
  

                                 [75 marks] 
 
 
 
8. (a) Discuss the economic uses of the 2011 Census of Population data for Government and   
  Business.                                                                                                                                   (20) 
 
       

(b) ‘Ireland is experiencing the highest level of net outward migration since 1989’.      
        (The Central Statistics Office, 2010)             

  Discuss the reasons why Ireland is now experiencing a high level of net outward migration.       
                                                                                                                                                                           (25) 
 

(c) ‘The unemployment rate in Ireland in December 2010 was 13.6%’.  
                                                                                         (The Central Statistics Office) 

(i) Discuss two economic measures which the Government could take in order to  
 reduce the level of unemployment in Ireland. 

 
 

At the end of the year 2010, the EU and the IMF agreed €85bn of financial support for Ireland. 
 

(ii) Discuss the economic effects of this financial support on the Irish economy. 
                                                                                                                                       (30) 

 
[75 marks] 

 
 

 
Remember to return this question paper with the answer book(s) used to answer the questions in 

 Section B. 
 
 
 



Page 8 of 8 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
Blank Page 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
    /AGA-AbasanOutline
    /AgencyFB-Bold
    /AgencyFB-Reg
    /Algerian
    /Arial-Black
    /Arial-BoldItalicMT
    /Arial-BoldMT
    /Arial-ItalicMT
    /ArialMT
    /ArialNarrow
    /ArialNarrow-Bold
    /ArialNarrow-BoldItalic
    /ArialNarrow-Italic
    /ArialRoundedMTBold
    /ArialUnicodeMS
    /BaskOldFace
    /Bauhaus93
    /BellMT
    /BellMTBold
    /BellMTItalic
    /BerlinSansFB-Bold
    /BerlinSansFBDemi-Bold
    /BerlinSansFB-Reg
    /BernardMT-Condensed
    /BlackadderITC-Regular
    /BodoniMT
    /BodoniMTBlack
    /BodoniMTBlack-Italic
    /BodoniMT-Bold
    /BodoniMT-BoldItalic
    /BodoniMTCondensed
    /BodoniMTCondensed-Bold
    /BodoniMTCondensed-BoldItalic
    /BodoniMTCondensed-Italic
    /BodoniMT-Italic
    /BodoniMTPosterCompressed
    /BookAntiqua
    /BookAntiqua-Bold
    /BookAntiqua-BoldItalic
    /BookAntiqua-Italic
    /BookmanOldStyle
    /BookmanOldStyle-Bold
    /BookmanOldStyle-BoldItalic
    /BookmanOldStyle-Italic
    /BookshelfSymbolSeven
    /BradleyHandITC
    /BritannicBold
    /Broadway
    /BrushScriptMT
    /Calibri
    /Calibri-Bold
    /Calibri-BoldItalic
    /Calibri-Italic
    /CalifornianFB-Bold
    /CalifornianFB-Italic
    /CalifornianFB-Reg
    /CalisMTBol
    /CalistoMT
    /CalistoMT-BoldItalic
    /CalistoMT-Italic
    /Cambria
    /Cambria-Bold
    /Cambria-BoldItalic
    /Cambria-Italic
    /CambriaMath
    /Candara
    /Candara-Bold
    /Candara-BoldItalic
    /Candara-Italic
    /Castellar
    /Centaur
    /Century
    /CenturyGothic
    /CenturyGothic-Bold
    /CenturyGothic-BoldItalic
    /CenturyGothic-Italic
    /CenturySchoolbook
    /CenturySchoolbook-Bold
    /CenturySchoolbook-BoldItalic
    /CenturySchoolbook-Italic
    /Chiller-Regular
    /ColonnaMT
    /ComicSansMS
    /ComicSansMS-Bold
    /Consolas
    /Consolas-Bold
    /Consolas-BoldItalic
    /Consolas-Italic
    /Constantia
    /Constantia-Bold
    /Constantia-BoldItalic
    /Constantia-Italic
    /CooperBlack
    /CopperplateGothic-Bold
    /CopperplateGothic-Light
    /Corbel
    /Corbel-Bold
    /Corbel-BoldItalic
    /Corbel-Italic
    /CourierNewPS-BoldItalicMT
    /CourierNewPS-BoldMT
    /CourierNewPS-ItalicMT
    /CourierNewPSMT
    /CurlzMT
    /EdwardianScriptITC
    /Elephant-Italic
    /Elephant-Regular
    /EngraversMT
    /ErasITC-Bold
    /ErasITC-Demi
    /ErasITC-Light
    /ErasITC-Medium
    /EstrangeloEdessa
    /FelixTitlingMT
    /FootlightMTLight
    /ForteMT
    /FranklinGothic-Book
    /FranklinGothic-BookItalic
    /FranklinGothic-Demi
    /FranklinGothic-DemiCond
    /FranklinGothic-DemiItalic
    /FranklinGothic-Heavy
    /FranklinGothic-HeavyItalic
    /FranklinGothic-Medium
    /FranklinGothic-MediumCond
    /FranklinGothic-MediumItalic
    /FreestyleScript-Regular
    /FrenchScriptMT
    /Garamond
    /Garamond-Bold
    /Garamond-Italic
    /Gautami
    /Georgia
    /Georgia-Bold
    /Georgia-BoldItalic
    /Georgia-Italic
    /Gigi-Regular
    /GillSansMT
    /GillSansMT-Bold
    /GillSansMT-BoldItalic
    /GillSansMT-Condensed
    /GillSansMT-ExtraCondensedBold
    /GillSansMT-Italic
    /GillSans-UltraBold
    /GillSans-UltraBoldCondensed
    /GloucesterMT-ExtraCondensed
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /GoudyStout
    /Haettenschweiler
    /HarlowSolid
    /Harrington
    /HighTowerText-Italic
    /HighTowerText-Reg
    /Impact
    /ImprintMT-Shadow
    /InformalRoman-Regular
    /Jokerman-Regular
    /JuiceITC-Regular
    /Kartika
    /KristenITC-Regular
    /KunstlerScript
    /Latha
    /LatinWide
    /LucidaBright
    /LucidaBright-Demi
    /LucidaBright-DemiItalic
    /LucidaBright-Italic
    /LucidaCalligraphy-Italic
    /LucidaConsole
    /LucidaFax
    /LucidaFax-Demi
    /LucidaFax-DemiItalic
    /LucidaFax-Italic
    /LucidaHandwriting-Italic
    /LucidaSans
    /LucidaSans-Demi
    /LucidaSans-DemiItalic
    /LucidaSans-Italic
    /LucidaSans-Typewriter
    /LucidaSans-TypewriterBold
    /LucidaSans-TypewriterBoldOblique
    /LucidaSans-TypewriterOblique
    /LucidaSansUnicode
    /Magneto-Bold
    /MaiandraGD-Regular
    /Mangal-Regular
    /MaturaMTScriptCapitals
    /MicrosoftSansSerif
    /Mistral
    /Modern-Regular
    /MonotypeCorsiva
    /MS-Mincho
    /MSOutlook
    /MSReferenceSansSerif
    /MSReferenceSpecialty
    /MVBoli
    /NiagaraEngraved-Reg
    /NiagaraSolid-Reg
    /OCRAExtended
    /OldEnglishTextMT
    /Onyx
    /PalaceScriptMT
    /PalatinoLinotype-Bold
    /PalatinoLinotype-BoldItalic
    /PalatinoLinotype-Italic
    /PalatinoLinotype-Roman
    /Papyrus-Regular
    /Parchment-Regular
    /Perpetua
    /Perpetua-Bold
    /Perpetua-BoldItalic
    /Perpetua-Italic
    /PerpetuaTitlingMT-Bold
    /PerpetuaTitlingMT-Light
    /Playbill
    /PoorRichard-Regular
    /Pristina-Regular
    /Raavi
    /RageItalic
    /Ravie
    /Rockwell
    /Rockwell-Bold
    /Rockwell-BoldItalic
    /Rockwell-Condensed
    /Rockwell-CondensedBold
    /Rockwell-ExtraBold
    /Rockwell-Italic
    /ScriptMTBold
    /SegoeUI
    /SegoeUI-Bold
    /SegoeUI-BoldItalic
    /SegoeUI-Italic
    /ShowcardGothic-Reg
    /Shruti
    /SimplifiedArabic
    /SnapITC-Regular
    /SPIonic
    /Stencil
    /Sylfaen
    /SymbolMT
    /Tahoma
    /Tahoma-Bold
    /TempusSansITC
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /Trebuchet-BoldItalic
    /TrebuchetMS
    /TrebuchetMS-Bold
    /TrebuchetMS-Italic
    /Tunga-Regular
    /TwCenMT-Bold
    /TwCenMT-BoldItalic
    /TwCenMT-Condensed
    /TwCenMT-CondensedBold
    /TwCenMT-CondensedExtraBold
    /TwCenMT-Italic
    /TwCenMT-Regular
    /Verdana
    /Verdana-Bold
    /Verdana-BoldItalic
    /Verdana-Italic
    /VinerHandITC
    /Vivaldii
    /VladimirScript
    /Vrinda
    /Webdings
    /Wingdings2
    /Wingdings3
    /Wingdings-Regular
    /ZWAdobeF
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU (Stephen Austin Distiller settings file V6)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 822.047]
>> setpagedevice


